Bid #432-11222 - Positive Displacement Cold Water Meters (Annual Contract)

Start Date Apr 19, 2013 1:54:34 PM EDT Awarded Date Not Yet Awarded

432-1122201-01 Cold Water Posit	ive Displacement Mete	er, 5/8"			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fortiline Waterworks, Inc.	First Offer - \$38.90	1200 / each	\$46,680.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Number: pp Warranty Offered	anufacturer Offerendo	e d : zenno	er
Sunstate Meter and Supply, Inc.	First Offer - \$46.05	1200 / each	\$55,260.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Number: Warranty Offered	anufacturer Offere	ed:	
Innovative Metering Solutions, Inc.	First Offer - \$48.00	1200 / each	\$57,600.00	Υ	Υ
Product Code: Agency Notes:		Model Number: M	anufacturer Offere 25 : 25 yr. See attachm	J	er
Mueller Systems	First Offer - \$54.00	1200 / each	\$64,800.00	Υ	Υ
Product Code: Agency Notes:		Systems Model Number: He	anufacturer Offere		
Municipal Water Works, Inc.	First Offer - \$57.93	1200 / each	\$69,516.00	Υ	Υ
Product Code: Agency Notes:		Supplier Notes: M METER Model Number: P ² Warranty Offered	: PERFORMANCE WA AIRED=20 YEAR TO	ed: MAST	TER

432-1122201-02 Cold Water Positive Displacement Meter, 3/4"					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sunstate Meter and Supply, Inc.	First Offer - \$66.03	500 / each	\$33,015.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Number: Warranty Offered	anufacturer Offer	ed:	
Innovative Metering Solutions, Inc.	First Offer - \$69.50	500 / each	\$34,750.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer Offered: Badger Model Number: M35 Warranty Offered: See attached				
Municipal Water Works, Inc.	First Offer - \$81.10	500 / each	\$40,550.00	01011	Υ
Product Code:		Supplier Product (Code: P14-A31-A03	-0101A-1	

Agency Notes:		METER Model Number: P ² Warranty Offered	anufacturer Offere 14 : PERFORMANCE WAI AIRED=20 YEAR TOT	RRANTY	
Fortiline Waterworks, Inc.	First Offer - \$86.00	500 / each	\$43,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: M Model Number: pp Warranty Offered	anufacturer Offere od04	d : zenne	er
Mueller Systems	First Offer - \$95.00	500 / each	\$47,500.00	Υ	Υ
Product Code: Agency Notes:		Systems Model Number: He	anufacturer Offere		

432-1122201-03 Cold Water Posit	ive Displacement Mete	r, 1"				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Innovative Metering Solutions, Inc.	First Offer - \$99.50	1200 / each	\$119,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Badger Model Number: M55 Warranty Offered: See attached				
Fortiline Waterworks, Inc.	First Offer - \$103.00	1200 / each	\$123,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Number: p Warranty Offered	lanufacturer Offer pd07	ed: zenr	ner	
Sunstate Meter and Supply, Inc.	First Offer - \$110.40	1200 / each	\$132,480.00		Υ	
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Number: Warranty Offered	lanufacturer Offer	ed:		
Mueller Systems	First Offer - \$125.00	1200 / each	\$150,000.00	Υ	Υ	
Product Code: Agency Notes:		Systems Model Number: H	lanufacturer Offer			
Municipal Water Works, Inc.	First Offer - \$140.92	1200 / each	\$169,104.00		Υ	
Product Code: Agency Notes:		Supplier Notes: M METER Model Number: P Warranty Offered	Code: P16-A31-A03 lanufacturer Offer 16 I: PERFORMANCE W IR REPAIRED=20 YE	ed: MAS	TER 7 5	

432-1122201-04 Cold Water Positive Displacement Meter, 1-1/2"					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Fortiline Waterworks, Inc.	First Offer - \$235.00	200 / each	\$47,000.00		Υ
Product Code:	Supplier Product	Code:			

Agency Notes:	Supplier Notes: Manufacturer Offered: zenner Model Number: ppd09 Warranty Offered: 25/25/10				
Sunstate Meter and Supply, Inc.	First Offer - \$278.50	200 / each	\$55,700.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer Offered: Model Number: Warranty Offered:				
Innovative Metering Solutions, Inc.	First Offer - \$315.75	200 / each	\$63,150.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Model Number: M Warranty Offered Includes Bronze cor	lanufacturer Offere 1120, 2 bolt flg I: See attached	e d : Bado	ger
Mueller Systems	First Offer - \$383.00	200 / each	\$76,600.00	Υ	Y
Product Code: Agency Notes:		Systems Model Number: H	lanufacturer Offere ersey 562 + Bronze I: Refer to complete \$315.00 each	Flange k	<it< td=""></it<>
Municipal Water Works, Inc.	First Offer - \$414.88	200 / each	\$82,976.00		Υ
Product Code: Agency Notes:	Supplier Notes: M METER Model Number: P. Warranty Offered	Code: P21-A00-A03 lanufacturer Offere 21 I: PERFORMANCE WA R REPAIRED=12 YEA	ed: MAS	STER Y 2	

Supplier		ι	Jnit Price	Qty/Unit	Total Price	Attch.	Docs
Fortiline Waterworks, Inc.	First	Offer -	\$354.00	200 / each	\$70,800.00		Υ
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes: Manufacturer Offered: zenner/hersey Model Number: ppd12/572 Warranty Offered: 25/25/10			
Sunstate Meter and Supply, Inc.	First	Offer -	\$375.00	200 / each	\$75,000.00		Υ
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes: Manufacturer Offered: Model Number: Warranty Offered:			
Innovative Metering Solutions, Inc.	First	Offer -	\$450.00	200 / each	\$90,000.00		Υ
Product Code: Agency Notes:				Supplier Product Code: Supplier Notes: Manufacturer Offered: Badger Model Number: M170, 2 bolt flange Warranty Offered: See attached Includes Bronaze conpanion flanges			
Municipal Water Works, Inc.	First	Offer -	\$530.44	200 / each	\$106,088.00		Υ
Product Code: Agency Notes:				Supplier Product Supplier Notes: M METER Model Number: P. Warranty Offered YEAR NEW+10 YEA	lanufacturer Offer 23 : PERFORMANCE W.	ed: MAS ARRANTY	TER 12

p. 3

Mueller Systems	First Offer -	\$531.00	200 / each	\$106,200.00	Υ	Υ
Product Code:			Supplier Product	Code:		
Agency Notes:			Supplier Notes: M	lanufacturer Offer	ed: Mue	ller
			Systems			
			Model Number: H	ersey 572 + Bronze	Flange I	<it< td=""></it<>
			Warranty Offered	I: Refer to complete	warranty	У,
			attached.			
			Hersey Model 572 \$	455.00 each		
			Bronze Flange Kit \$	76.00 each		

432-1122201-06 Percent Discount off of the list price for parts.					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Municipal Water Works, Inc.	First Offer - 46.00%	1 / percentage	46.00%		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			
Mueller Systems	First Offer - 21.00%	1 / percentage	21.00%	Υ	Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: 21% Off Mueller Systems Parts Price List Date 12/1/12				
Fortiline Waterworks, Inc.	First Offer - 20.00%	1 / percentage	20.00%		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Sunstate Meter and Supply, Inc.	First Offer - 15.00%	1 / percentage	15.00%		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Innovative Metering Solutions, Inc.	First Offer - 10.00%	1 / percentage	10.00%		Υ
Product Code: Agency Notes:	Supplier Product Supplier Notes:	Code:			

Supplier Totals

Supplier Code 00002597

Fortiline Waterworks, Inc.	\$331,080.00 (6/6 items)
l	

Bid Contact david guthart Address 8920 SW GLADES CUT-OFF ROAD

<u>greg.panasuk@fortiline.com</u> PORT ST LUCIE, FL 34986 Ph 772-408-1960

Fax 772-408-1963
Agency Notes: Supplier Notes:

Sunstate Meter and Supply, Inc. \$351,455.00 (6/6 items)

Bid Contact keith ellenburg Address 14001 W Newberry Road

keith@sunstatemeter.com Newberry, FL 32669

Ph 352-332-7106

Agency Notes: Supplier Notes:

<u>Innovative Metering Solutions, Inc.</u> \$364,900.00 (6/6 items)

Bid Contact Scott Cochrane Address 2501-A Merchant Ave

scochrane@inmetering.com Odessa, FL 33556

Ph 727-375-9701 Fax 727-375-9703

Bid Notes 9 digit SN is not offered. Badger utilizes 8 digits. The first 4 digits will be the year of manufacturer.

Phonograph finish (old style)on flange face is N/A. City of Fort Lauderdale has had many of the

Badger M120 and M170 meters in its system with no issues

Agency Notes: Supplier Notes:

9 digit SN is not offered. Badger utilizes 8 digits. The first 4 digits will be the year of manufacturer. Phonograph finish (old style)on flange face is N/A. City of Fort Lauderdale has had many of the Badger M120 and M170 meters in its

system with no issues

<u>Mueller Systems</u> \$445,100.00 (6/6 items)

Bid Contact Anita Short Address 10210 Statesville Blvd

<u>marketing@muellersystems.com</u> Cleveland, NC 27013

Ph 704-278-2221 Fax 704-278-9616

Supplier Code 00015529

Agency Notes: Supplier Notes:

Municipal Water Works, Inc. \$468,234.00 (6/6 items)

Bid Contact James Mathis Address 3028 Mercy Drive

jmathis@municipalwaterworks.com Orlando, FL 32808

Ph 877-295-2409 Fax 407-295-2455

Agency Notes: Supplier Notes:

* *

p. 5